202546 H

BESESAL
B i) A & 28T — Rt

202547 H 5y OIREHE FHHEIC DT

20254E7 H O FBEAEHEIT 3T HREME SRS B 25 FRLOBEVEEL TRV ET O T, AHLZ
KR CI R RSB CHEEEFIFL2BALEWZLET,
72k AEIOFREIL, 20254F2 H ~ 20254F4 A O G FHIE I SERELZH D TY,

(BiiA)
SR} A B
50H i1 [X. 60H 21 [X.
{|EE S -6.88 M kWh 1.98 1, /kWh
& 3.63 M kWh 0.92 M, kWh
el 3.58 M kWh 0.92 [, kWh




[SEERBHERS DR ]

FHREMERE =AX o +BX B +CX y

(100FI ARy Du$ix, 10 DAL CTPU#TLA)

<HE 5 ek > <HEARE>
S FURMI RS (A) 75,324l kIl X () 0.0048 0.1970
SR JEEHMImR (B) 91,452|1 't X (B) 0.3827 0.4435
+) B JFCBH S (C) 19,887|M 't X (y) 0.6584 0.2512
SESBREMERS | 48,5000  60,400| 11 kI
HAEPRHER|  86,100]  44,200{M, kI

R SR AT D B RE
PEIRSEHIRS 2N EEHERREHMAS 2 B[Rl > 72 356
WREHE R Bl = CPERRHiliRg — EAERBMEAR) X EXEBAE 1,000 (77 23H%)
PEIREHIRS 23 EEHERREHMI A 2 TRl > 7235 6
PREHE PR Bl = (ATERREHlRS — “FIRRBHEIAR) X ZHEHLE, 71,000 (=1 T RFAE)
(B3 N LA BB 3L CIUHE T A)

(50Hz 1&JE)
PREMVE R A= (86,100 - 48,500 ) X 0.183/1,000

[ 688l kw2

(50Hz &JE)

PRI IR = (60,400 - 44,200 ) X 0.224/1,000
=] 3.63[1kwh

(50Hz %BIEE)

BRELFE R A= (60,400 - 44,200 ) X 0.221/1,000

st/



[EHREHERE DR E ]
SEHREHMEE =AX « +BX B +CX v
(100FI ARy Du$ix, 10 DAL CTPU#TLA)

<H G EHmkE > < HABARK >
60HzIKE
SRR (A) 75,324|M kI X (a) 0.0275
AR (B) 91,452|H .t X (B) 0.4792
+) R EEHmAE (C) 19,887|H 't X (y) 0.4275

SEEIENBHIRS | 54,400]1 Kl
FHERBHIER [ 45,900] 1k

DR B R BAR DR AE ]
IR 23 S HER RIS 2 _E Rl ST E
PR SR Bl = (CEpRBHilids — ERIERRBMERR) X EXERAE, 1,000 ("7 AFRE)
IR 23 L HER R 2 TRl > 7o &
WROBH B B B = (BB — TRl X EHERAT, 1,000 (=7 AFRE)
(I 3/ N LA T BB 3L TG T A)

(60Hz 1&JE)
RBHE IR EA = (54,400 - 45,900 ) X 0.233/1,000

L Logfmkw



[EHREHERE DR E ]
SEHIREMIiIR =AX o +BX B
(100FI ARy Du$ix, 10 DAL CTPU#TLA)

<H stk > <R E>

60HzE £,
KRl E

S FURMI RS (A) 91,452|M 't X (a) 0.4381
+) R EEHMmE (B) 19,887\ 't X (B) 0.5545

STAIHEHERS | 51,100]7, kI
HAEREHIHE | 42,000]1 Kl

DR TR BRI DR E ]
PEIREHIRS 2N EEHERREHMAS 2 B[Rl > 72356
WRELE AR E Bifli= CEE RIS — FLYERREHilRR) X ZEHEBL{H/1,000+E1TH 5 Bifl (77 A FH%&)
PEIREHIRS 23 EEHERREHMIFS 2 TRl > 7235 6
WRBLE SR B Biffi= (A TERUBHE A% — PRl ) X ZEHE Bl /1,000+E1TH &5 Bl (<A T 23R %)
(i 3/ N LA BB 3L CTIUHE T A)

(60Hz &E)
PREFESRE HE A= (51,100 - 42,000 ) X 0.196/1,000 +( 11.06|-19.37) X 10.3%
= 0.92|Mkwh

(60Hz ®BIEIE)
RBME TR EAM= (51,100 - 42,000 )X 0.196/1,000 +( 11.06]-19.37) X 10.1%

sl

LIk



